= A AN 2 B
IZNT\ = EE v ==
HE-FERF+-A=1—HALFE
—EZRE —ETPOF
B 5 FExT T T
(&%)
B B A & 88,303 59,296
AR
B & R A 549 1,134
HEEG B S 2 e - 172
A B WA (1,040) (52)
Vs KRB ETE 17,977 8,198
EUE 5 R FURE 374 86
HERB AR 2 W - (1,025)
R AR EREE (721) (487)
HEYE WERKEZEEFE 3 61
EmAX - 10,260
LEECEYPRcEBERERNE 105,445 77,643
FE U E 5 BR 3R K H b FE U SR I8 N (56,270) (24,547)
FE T R IB K FE ST B A1 N 19,900 21,040
LEEIEFSIR € F R 69,075 74,136
B S F &2 (549) (785)
SR ETEH (13,627) (3,117)
KREXKMBHREESFRHR 54,899 70,234
BREFZH
BEYE BB RKE (63,508) (33,698)
s B2 B B A 28 (208) —
B W F B 1,040 52
HEME WS NREFMBSHIE 238 74
bl U B P= RN b (182) (1,037)
HEK B AT 27 - (92)
BEEEXR - 96
RETHFMABR S FEE (62,620) (34,605)
Bl & EE
BT DTS RIBF 72,670 53,294
EEMERTEE 6,796 6,604
VEEREE 6,416 1,104
B E (17.375) (5,400)
ERETEE (7,600) (781)
B LERRER S (973) (945)
BRTEENT - (977)
METHFEESFEE 59,934 52,899
RERBLESEEHEMFR 52,213 88,528
FBRERESEEEE 119,409 30,881
NEERBEH I FE 1,629 —
FRESRBASEEEA
REBRITHEB IR S 173,251 119,409

25 EEREEEZERERAR —ZEERFFER



